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| |
Note: Answer any 2 full questions, choosing one full question from each part.
Q Questions Marks RBT | COs |
‘N ‘ ;
| PART A
1 a/Obtain the Fourier series for the function f(x)= |x| in the interval 8 L2 | CO2
1 1 F
—n<x=<m and hence deduce that _2+_2+_2+._“:n:_
1° 3° 5 8
b Y1 1 8 L2 | CO2
Z_X , O<x<§-
- (Obtain sine half range Fourier series of f(x)= 1
, —=  =<x<1
B a2
1c50btain the constant term and the first two harmonics in the Fourier series 9 L2 [ CO2
- for f(x) given by the following *
| x o 1 2 3 | 4 5
| oy=fx) o 18 24 | 28 | 26 20
OR
2/a/Obtain the Fourier series for the function 8 L2 CO2
L _ | =mx , 0<x<1 ‘
| - f(x) n(2-x) 1=x<2 and hence deduce that
1,101, g
1? 3 5 8
b ' x 0<x<% 8 L2 CO2
i fx)= T .Then show that :
. n—x ,E<x<n
2 cos2x , cos6x  cosl0x
_T
f(x)—z——ﬁ[ 5 + 7 + = L ]
c/Compute the constant term and first two harmonics of the Fourier series of | 9 L2 CO2
f(x) given by 1
X 0 T ' 2x | = 47 51 2w
3 | 3 3 3
f(x) I 419 17 1.5 12 1.0
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PART B
3 aFind the Fourier transform of f(X)= 1 for|x|$1 and hence evaluate 8 L2 Coa
0 forlx|>1
f sinx_
5 X
b[Find the Fourier Sine transform of e and hence show that 8 L2 | CO3
f xsmrr;x dx=T ¢ pusl
o 1+x 2
c|Find the z-transform of coshn® and sinhn® and hence find z 9 L2 |CO3
transform of g"coshn® .
r
OR
4] —ax 8 [ L2 3
aF ind the Fourier Sine transform of ,a>0 €0
bFind the Z-transform of cosn® and cosh (%4-9) 8 L2 | cod
C“Find the Z-transform of (i) 2 n+sin%+ 1 (ii)sin 3n+5) (iii)(n-1)° ? L2 1co
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